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Paper 1
PEERIECN |

Time Allowed : 60 Minutes]

[Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

A : A TRAINd T (50) Efes YA foeiel ST Toish YRl g (2) T SR

Tl yvd dred
Direction : AT
Question numbers 1 and 2 are based on i 1 37T @W Tifedter
the following information : z::r s 1% ) 2%
The following is the distribution of " )
number of companies of different types TeRT TSATdA shuie fSegar 3ot
in different districts of a state : ) WW@W
Types of Districts IE :
Industries W Uk W

A BIC|DE A [B|C|D|E

Agro-based 90 |86 |132| 45 (165 ~ —
Forest-based 105170 1101 | 30 |190 | TSR STERG 90 | 86132 | 45 |165
Livestock- SHTTe’. S1emid | 105( 70 |101 | 30 (120
based 87 |90 (100 | 42 |176 | 4¥ER 3menRd 87 190100 | 42 |176
Textile-based 80 |92 (142 36 |132 IO 80 | 921142 36132
Eherglcal' as | a6 l10s | 36 |15 | T ST | 88 | 86 (108| 36 (154
ase N
Engineering
and allied 98 |76 117 40 |166 | T THH 98 | 76 |117| 40 |166
Total 548 [500(700 | 229|913 | THW 54815001700 | 2291|913

1. For which type of industry the
difference between the companies of
districts E and B is maximum ?

(A) Engineering and allied
(B) Agro-based

(C) Chemical-based

(D) Textile-based

1. fSc®1 E e7ftr B A&fite Shivren 9
HYA TEHUTA T S ST
e ?

A) sfafrerin o aom
(B) Tdler afenfid
(C) =R 3=

(D) SN

[P.T.O.



What is the percentage of agro-
based industries in district B ?

(A) 86%
(B) 17.2%
(C) 8.6%
(D) 16.67%

In a certain state 60% are married
employees and 52% graduate
employees. 32% are neither married
nor graduate employees. Find the
percentage of married and graduate
employees :

(A) 8%

(B) 28%

(C) 24%

D) 44%

Direction :

Question numbers 4 and 5
are based on the following
information :

Monthly expenses on various items
of a certain family are shown in
the following diagram :

fod ==
Clothing f—e—108 \
63° A
LU TS
78
House rent
72° Other
P *
Fuel
ete.
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B fSceameia Sidier enenfia su-rer
YFSIR HE ?

(A) 86%

(B) 17.2%

(C) 8.6%

(D) 16.67%

W1 3k T 60% AeigR foaanfed
3R, 52% TGN TSaTE’ 3TRd. 32%
AR STfaenfed 2ed d@= O USAlER

e, W faanfed ugdterR AreRigriE

Yheail wIEl
(A) 8%
(B) 28%
(C) 24%
(D) 44%

T

IyT wHT® 4 AT 5 @WTeid
-l MLTRA 3R -
TRt faesh spearan fafae awfiaticr

UTes el Wil T qrafaeietl
3L,
= =
| 108°
h4S \
63° = A
IS
LI
e 3T
27° x°
ECE]
3T




Find the angle in degrees associated

with sector ‘other’.
(A) 63°
(B) 90°
(C) 108°
D) 72°

Find the percentage of expenses on

sector ‘Food’ :
(A) 25%
(B) 30%
(C) 20%
(D) 90%

Which of the following is the correct
full form of HTML ?

(A) Hyper Text Mandatory

Language
(B) Hyper Text Mix Language
(C) Hyper Text Mark-up Language

(D) Hyper Text Media Language

MAR - 00123/I—D

‘o= o faumTsh Heifid S TRl STe=n

M ? o el
(A) 63°
(B) 90°
(C) 108°

D) 72°

(e
[

Ell

=
P

‘e T favrmeda T

hlel

(A) 25%
(B) 30%
(C) 20%

D) 90%

HTML = /= Iy e fowr

qEIeTdehl ShIUT 2

(A) TEAW TR HSH oo

(B) sER o= fyem oo

(C) TEW RS Hh-3TT oA

(D) BEW IRL Hifedr e
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The internet access to common

public in India was first introduced

(A) 1995
(B) 1986
(C) 1999
(D) 2000

Which among the following is most
helpful to type in regional languages

on Smart Phones ?
(A) Typewriter

(B) Honey code
(C) Unicode

(D) Multimedia

Which among the following is the
digital payment app linked to
Google ?

(A) PayTM
(B) BHIM
(C) Tez

(D) MobiKwik

MAR - 00123/1—D

RATd FAHH STd9Te] 3T

(A) 1995
(B) 1986
(C) 1999

(D) 2000

TAREHITAR IRIvTR  reidia A5
oo (a) (al Q o AN [a) ~ (o
faferamarel qeiettent hIv e Fard

ITART AR ?
(A) THATH
(B) TlhIe

(C) IfThls
(D) wiceHite

qeretieh! 1o fefsea Tie ofq Treref
Heiferd e ?

(A) A

(B) ™

(C) s

(D) wifsifereen




10.

11.

12.

13.

Which among the following is the
consortia for higher education
e-resources linked to the digital
initiatives ?

(A) e-Shodh Ganga

(B) e-Shodh Sindhu

(C) e-Shodh Yamuna

(D) e-Shodh Saraswati

Kyoto Protocol is for :

(A) Biodiversity conservation

(B) Ozone protection

(C) Wildlife protection

(D) Global climate change

Which one of the natural system is
used for hot water for domestic
purposes ?

(A) Solar-Thermal
(B) Solar-Photovoltaic
(C) Geo-thermal

(D) Solar-digestor

Excess growth of aquatic plants in
our water bodies is due to .............
(A) Increase in Nitrates

(B) Increase in Phosphates

and

(C) Increase in Nitrate

phosphates
(D) Sodium

10.

11.

12.

13.
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qEeTdeh! VAT Iea f¥1e70r $-wed
el q=ad (FH-=rerEn) fefsea
qeehR AR HAfdd Mg ?

(A) -3y W
(B) 3-viry fHy
(C) -3 =g
(D) -3y T

a . a a
T HRUTEE 9ol TRH 0]
JEIcTUehl iU ST TR Sl Jomelt
SO Sd ?

(A) IR-3ftoreR

(B) UR-UHRTHA

(C) g-3iiftoren

(D) HR-¥hed

STICHT A it aeddie ST

(A) A e

(B) ®EheHl a1@

(C) ™EE d HiTheudd a1e
(D) wifezq
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14. Which one of the following air pollutant

15.

16.

17.

is responsible for acid rain ?
(A) SO,

(B) CO,

(C) CO

(D) Ozone

Wet part of the municipal solid waste
can be put in use as soil conditioners
by using :

(A) Composting
(B) Pyrolysis
(C) Burning
(D) Incineration

In Moghal period higher education
learning centres were known as .........

(A) Maqtabs

(B) Madarasas
(C) Khajkais

(D) Arabi schools

RUSA scheme is launched mainly
to provide ..........cceeeeunnnns

(A) Affordable higher education to
all

(B)
(&)

Quality higher education to all

Funding to state level higher
education

(D) Funding to researches in

colleges

14.

15.

16.

17.
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WA Tedeh! gall HLOAT SZehiUeh]
IV w12 31faE 3 (Acid rain) 80
FRUTYd 3@l ?

(A) SO,
(B) CO,
(C) CO
(D) Ozone

F&EA A gdteh Il T Wehd.
(A) HaifeT

(B) AT

(C) =it

(D) sAfafRer

ARTAAT 3R,
(A) FIHT RASTAETT ST THesrd
(B) TaA1 ToEgul Seatnen fHer

(C) T S=a TRTeyor T 21eamr
RLCicl

(D) weIfacaTaaTdid | eATHIST
SRR qEm




18.

19.

20.

The science that deals with the
relationship of various organisms

with their environment is known

(A) Anthropology
(B) Economics
(C) Ecology

(D) Geology

UGC has been introduced induction
course for teachers in higher

education to .......cccecueeenene.

(A) Enrich the content knowledge
(B) Prepare for teaching

(C) Refresh knowledge

(D) Develop attitude

‘SWAYAM’ is programme platform

is developed for .......................
(A) Technical subjects

(B) Humanity subjects

(C) Management subjects

(D) All the above subjects

18.

19.

20.
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oo

fafay Sara <= qAaomet STEom=

Fiai%lﬂ?ﬂ amm FHIOT=I] IS

Y TR

(A) HFEEITIE
(B) sfefeme
(C) TR
(D) e

a AN

RIS

S IR L TG B IR 1B 1 M

SSRM HIH Fafaoe 3R,

(A) STREAE 9§ HI0AR]

(B) 37AMYATEl G ShivITHIa!

(C) Il 3= QU]
(D) it o SISt

SWAYAM = Sqsg ot
FHelell 3.

UNBSIEERELERIEIG)
(B) urea foawanarst
(C) HIEIA Tao=mars

(D) I0d gd fae=ae]

[P.T.O.



21.

22.

23.

Problem solving methods are used

by the teacher in level of

teaching.

(A) Memory

(B) Understanding
(C) Reflective

(D) Basic

Feedback of classroom teaching from
.................... is a valuable feedback for

teachers.
(A) Students and Librarian
(B) Colleagues and Librarian
(C) Students and Parents
(D) Students and Colleagues
SWAYAM stands for

(A) School Webs of Action-Learning
for Youth Aspiring Maps

(B) Study Websites of Action-

Learning for Young Aspiring
Minds

School Websites of Active-
Learning for Youth Aspiring

()

Maps
(D) Study Webs of Active-Learning

for Young Aspiring Minds

22.

23.

MAR - 00123/1—D

foregey, SN
- TR l‘IQS\(‘I'\I ATHdld.

(A) O

(B) 3Tehetd

(C) femit

(D) HAYd

................. i 5 T A A

qaae JeAeol, FeenTas gexard
T 3T

(A) faeneft enfor e
(B) fiager Heswrl enfr Hyure
(C) famnefl smfor urerR
(D) fomneft enfor farerw et

(B) TSl oz St STRM-THT B

T TR AESH

(C) T dadEed 3 frleg—aiT
TR JY STERT HEy

(D) WSl I 3 FFRIB-T1T B
i Ca—

10
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24, i is more suitable method | 24. 3fde™ fosmEM=n SteATEARERS
for teaching of History. RIS e 1k et M
(A) Role Play Method (A) yfaerTaTe™ Tgd]
(B) Demonstration Method (B) fareei wgdt
(C) Experimentation Method (C) WEiEes Tgdl
(D) Deductive Method (D) STaTHT qgat
25. Learning process is monitored by | 25. &mqaufsha= fzmm o
............... Evaluation. TEIHIIER. H .
(A) Diagnostic A) erfrE
(B) Placement (B) woHffR=d
(C) Formative (C) TR
(D) Summative (D) T
26. A researcher must have .................. 926. TN SR =/ ST
(A) Attitude towards research e
(A) Geiem st
(B) Research aptitude
(B) SeneA SAfvean
(C) Knowledge about research ©) 5% & et
(D) Mastery over own subject (D) a:=n fasEmEdia T
11 [P.T.O.



27.

28.

29.

Recording of ................. in qualitative

research is called as memoing.
(A) Reflective notes

(B) Memory notes

(C) Understanding notes

(D) Research notes

For detecting errors in teaching-
learning process, the appropriate

data collection tool will be .......... .
(A) Achievement test

(B) Diagnostic test

(C) Standardized test

(D) Post-test

If a frequency distribution has some
extreme scores, then appropriate

measure of variability will be

(A) Range
(B) Quartile Deviation
(C) Average Deviation

(D) Standard Deviation

27.

28.

29.
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TUIcHeh  HNEARITS
0 IE feU0 HEW (memoing) I
U

(A) faaefie fem

(B) #u femw

(C) 3eherd fem

(D) weheA fem

ST - STEATIT SR A ST ML

(A) HUEH HER
(B) Seifieh g
(C) YT gl

(D) IW-FHER! (Post-test)

SR IRATT fIaComae sh1el Sl Urdich
Aqaiel, W faeeRieaad arg gk

(A) fosm

(B) =qe® fo=em
(C) Tl fo=rer
(D) g foreret

12



30. Standard of research journal is

decided on ....................
(A) Publisher

(B) Impact factor

(C) Citation Index

(D) Printing of the journal

Directions :

Answer Question Nos. 31 to 35
based on either the English

passage or the Marathi passage :

Political education has many
connotations. It may be defined as
the preparation of a citizen to take
well informed, responsible and
sustained action for participation in
the national struggle in order to
achieve the socio-economic
objectives of the country. The
predominant socio-economic
objectives in India are the abolition
of poverty and the creation of an

egalitarian society that would

MAR - 00123/I—D

30. gyNeTufI®=a (research journal)

(A) TR

(B) YR el

(C) HEIYH TS

(D) SHA=ET 3R

AT

9T @Ak 31 °d 35 ¥ U feoremn

TSI SarATeliel Ug=iel 3wt o :

IrEFATEl  guart ®dw ATl

IS BId 319, Sl ShIvTeTel

hHeTearea] STIVATE! halcH ST eTeK
¥ Oifecd 3/ 3mfT o W Wifeed 3.

@1 ogfafts ufgg =dd 3ise

Afiaeeed A 9 95 Sd 9d. HHST

TS foshfaa om0 9| 3TE. e

13
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replace the present traditional,

feudal, hierarchical social setup.

Under the colonial rule, the
Congress leaders argued that
political education was an important
part of education and refused to
accept the official view that
education and politics should not be
mixed with one another. But when
they came to power in 1947 they
almost adopted the British policy
and began to talk of education being
defiled by politics. ‘Hands off
education’ was the call to political
parties. But in spite of it, political
infiltration into the educational
system has greatly increased in the
sense that different political parties
vie with each other to capture the
mind of teachers and students.

The wise academicians wanted

political support, without political

MAR - 00123/1—D

fohMEr=n s STERdH | Rl

~

HUETAT 9N A0 SHfdaee, @

—

o sfqgrarshe aEvATEl Wk gl
fecielt e/, W TN fae-fa=

I AFTAE ThaR T9d. hR

Fafifer dfadm omTel A sifsa T

afor Sraagsel fagesaard Twa

Hfeqearen fafay SR urd gae. &

fafaeara groft sufor #mopw Ardra

HIoSqeh IO 6. ATHoS hIUICATE]

SIFATH  HIVCATE] B SATITHTAT

AT SV HHTEAT TGS

AMA Aq9a fveged sl dX d

grfecad 3T9d. <dTAT SMY0T Y=,

TERH, 1A= 38 Feee, fohal

14



31.

interference. What we have actually
received is infinite political
interference with little genuine
political support. This interference
with the educational system by
political parties for their own
ulterior motives is no political
education at all and with the all
round growth of elitism, it is hardly
a matter for surprise that real
political education within the school
system (which really means the
creation of a commitment to social
transformation) has been even
than in the

weaker pre-

independence period.

The word that is nearly opposite in

meaning of ‘defile’ is .................
(A) Sanctify

(B) Decry

(C) Devaluate

(D) Satiate

31.

MAR - 00123/I—D

gid fayvra swdr. = favrmia &,

¥, o 3. 98 IHA T e Wi

TUH URUA N SIdl Ad AN,

THTET HIVATE! SR ST ehedl

Tt fo= M SreHEE S el W

T ANl Afeid STEHd & Hord: hel

3 o7for et Frerremeneia s o1g

Ylohd ATEl. AT Shodedl ST9flad=1y

RUEZILS| W SAWIE] I ohedl T hedl
foera arerea mfor S o TN YA
Ao el @1 9o JagE e

STV el TR TS e

T, I hIvrdrel TfireTertt aferaafec
BId gL

(A) 9ol faem s{eR

(B) &qul faem <=

(C) gatd a¥eR, ITd I
(D) qatd =, I e

[P.T.O.



32.

33.

34.

The author of the passage suggests
that the main purpose of political
education should be

(A)
(B)

Propagating elitism

Changing the education system
qualitatively

(&)
(D)

Creating an egalitarian society

Preparing the youth having
high emotional quotient

According to the passage the close
meaning of ‘connotation’ is ...........
(A) Different meanings

(B) Invoked meanings

(C) Similar meanings

(D) Invited meanings

How has politics been related to
educational institutions ?

(A) There
interference even though they

was no political

got political support

(B) There was neither political
support nor political
interference

(C) They got political support at the

cost of political interference

(D) Without political support, there
was quite a lot political

interference

33.

34.

MAR - 00123/1—D

(B) dfciaenfgear #gw
(C) STHTAEE! holell TIel

(D) STHETE ATTqY]

U SfTerTehs Sevarel T8I s
oI gt ?

(A) = Ty

(B) wmHTfSIeR qftedq

(C) i@ Hewd
(D) AfRATT=a

ATl § WIS SAfekTAeT STT=HEIER
afyres srgm, @ wwfife dfea e
SISO o 3T
(A) wyul faum aleRr
(B) @yl faem =

(C) Jatd a¥eR, ITd I

(D) qatd =, 3T IR
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35.

36.

37.

In the passage ‘Hands off education’

suggests that politicians should

(A)

Interfere with the education

system

(B) Protect the education system

(C) Be silent spectators of the

educational system
(D)

Produce working hands

In any organization, information is
being shared among all the

members. This of

type
communication is .........ccceeeeeeennnen.
(A) Internal

(B) External

(C) Upward

(D) Downward

Cultural difference between sender

and receiver may affect
(A) Message

(B) Media

(C) Effectiveness of communication

(D) Feedback

35.

36.

37.
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HAEl B hegl Bl ?

(A) Sreg1 v e fato 2n

(B) o1 ot IS SiEet S

(C) W@l el ol Bid

(D) W@l FHAA Uifdeh Hewd 9rd =i

HIUCATET  ATEATIATHER,  ATfEdTE

HHTR R0 T HEEIHE hed ST, deal

(A) e
(B) fexx
(C) el
(D) AL

U d Uesh ATl Thiae Hich
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38.

39.

40.

According to

communication means a transfer of
understandable information between

two persons.
(A) F.G. Meyer
(B) G.G. Brown
(C) Dr. Deval
(D) Millar

Effective communication may be

shown by .....ccccceeveeens this equation.
(A) Mg — Mg =0
(B) MR — Mg = 0
(C) Mg - Mg = +1
D) Mg - Mg = -1

where :
Mg—message sent by sender

Mg-message received by

receiver
The element which badly affect the

effectiveness of communication is

called as

(A) Feedback

(B) Projection
(C) Message
(D) Noise

39.

40.
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[aVEaY

SMheATH  Hfgd =

AR B
(A) THST. TR

(B) Sit.Sfl. smeA

(C) =i <aed

(D) faer

=
n

|

=
=

I

o

Mg-Joh Tiefacienl Ea¥
My T ehrRetel Hesl
HYEUI=AT TR R TeR Ufdehel TRom

(A) TS
(B) 9&dur
(C) "W

(D) v
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41.

42.

The number of eight-bit computer
words formed by Os and 1s with

exactly three 1s and five Os is :
(A) 15
(B) 56
(C) 65
(D) 30

The following is a list of various

committees with their members :
X]_ = {a, b, C, d}, X2 = {x7 b; d7 y}7

X3 = {xa Y, a}7 X4 = {\y7 b}7 X5 = {xa
a, b}7 X6 = {.y7 a, b}7 X7 = {.')C, Yy, a, b}

How many ways can we select
representatives of the committees so
that no two committees have same

representative ?
(A) 5
(B) 3
) 1

(D) 0

41.

42.

MAR - 00123/I—D
IE T TH AT STHRMAT Se-die fohdl
TR TR TR B hi 1 Feaidh
YRME 1 T 98 9 0 94 dadl Idld.

(A) 15

(B) 56

(C) 65

(D) 30

o N N o LN
3% [QCATIHT] SIATeSAT HHET F AT

e 3MRA
Xl = {a, b, c, d}7 X2 = {.’)C, b; d7 y}7

X3 = {x7 Y, a}a X4 = {Y7 b}a X5 = {xa

a, b}7 X6 = {% a, b}7 X7 = {.’)C, y; a, b}

fehell TR ST Hfcieft ferg.

T G

~

TRl Sh1 SUIeh& ShIVCATEl S HiHca

gfafqel SmaTes STl ?

(A) 5

(B) 3

© 1

D) 0
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43.

44.

45.

In a rectangular standing
arrangement of persons in four rows,
each row having four persons. If jth
person in the ith row is asked to move
to the place of ith person of jth row
foralli=1,2,3,4andj=1, 2, 3,
4, then how many persons have
changed their original position ?

(A) 4
B) 5
(C) 12
(D) 16

A water tank fills in 6 hrs with the
first tap; it takes 12 hrs for another
tap to fill the tank. If both the taps
are turned on simultaneously, how
long will it take to fill a vacant
tank ?

(A) 3 hours
(B) 3 hours 30 minutes
(C) 4 hours

(D) 4 hours 30 minutes

If X gets 10% points higher than Y,
then what is the percentage of Y
gets less points than X ?

(A) 9
(B) 10

91

(&) 11

111

(D) 11

43.

44.

45.

MAR - 00123/1—D

TehT ST SAIEId aR JTHEY et
3T 3MRA. Woeh T =R SFait 377
SR i A WA j HHRTAT KT
7 TR § 1 ShHTERT= SRR 39 TgUard
gifadt (4@ i = 1, 2, 3, 4
j=1,2,8,4) W fhdl =1 3TIA
I M dgaiel 38 ?

(A) 4

(B) 5

(C) 12

(D) 16

Teh qIuaTe 2eh! Ufeedl Hed 6 ardma
A T AT FeoH o WO 12
AT, SR Q61 Je3 Tehd dedl =]
hearg ot R 2Rl oI fohdt des
e ?

(A) 3 d™

(B) 38 @@ 30 fafe

(C) 4 a9
(D) 4 99 30 fafe

X Y U 10% 01 ST THedd, W
Y o X T fohelt @ o1 Al et ?

(A 9

(B) 10

91

(&) 11

111

@) 11
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46.

47.

In a running race Rani was behind
Shobha, who was ahead of Aditi.
Rehana was behind Aditi and ahead
of Rani. Which is the correct order

from front to back in their race ?
(A) Aditi-Shobha-Rani-Rehana
(B) Shobha-Aditi-Rehana-Rani
(C) Shobha-Rehana-Aditi-Rani
(D) Rani-Shobha-Rehana-Aditi

Arrange the following terms in a
meaningful/logical order indicating

a correct sequence :

Windows

(1)
(2) Walls
(3) Floor

Foundation

(4)

(5) Roof

(6) Room
(A) 3-2-4-1-6-5
(B) 2-3-1-4-5-6
(C) 4-2-1-5-3-6

(D) 4-3-2-1-6

46.

47.

MAR - 00123/I—D

TJesUAT=AT QT O S AT 371, i
ST Stfedi=a 4e 371, W1 e Jm e
oy qoite ge 3fe. TR WRkiiHEd ggd ANl
FOC hH TR 3T ?

(A) sfed—n-Toi-Em
(B) nT-3tfedi-X@r-Trot
(C) TiT-YEMI-Sfeeit-—Troft
(D) Toft-3he-YemT- 2t

N

3]

e Gehedl stefqui-arfenss Tl
o) UqdiA A@TeT

(1)
et

HEM (Floor)

(2)
3)
(4) T
(5) =d
(6) Tt
(A) 3-2-4-1-6-5
(B) 2-3-1-4-5-6
(C) 4-2-1-5-3-6

(D) 4-3-2-1-6
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48.

49.

‘Horse is a herbivorous animal.’ This

statement is an example of

(A) Perception
(B) Inference

(C) Comparison
(D) Implication

Which of the following is the valid
conclusion based on the statements

given below ?

Statement I :

Some animals are intelligent.
Statement II :

Intelligent animals are monkeys.
Conclusion 1 :

All monkeys are intelligent.
Conclusion 2 :

Horses are intelligent.

Code :

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

48.

49.

MAR - 00123/1—D

‘el B W guivet g oemR. ®
.ra.a.m ...................

(A) Jag
(B) TqHH
(C) 399
(D) T

wrell fedtea faummer snenfid o

frers Sfed smRa ?

fagm= I :
HE ol gfga e
fagm 11 :
THE gfgam AN SR,
frewet 1 :
Td T qfgam e
frensf 2 :

e Sfgar e

Hehd :

(A) 1 T

(B) 2 ®d

(C) 1 enfor 2 S

(D) 1 foper 2 =T AR
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50. Which of the following diagrams

shows the correct relationship

among the terms :

Entrepreneurs, Married, Women ?

(A)

(B)

(C)

»(0) 0

50. WITeTAdHRT  HIUTAT

MAR - 00123/I—D

ATHAT I

Hehoq e TaY el e3ifad  ?

o o

oTeSenSieh, forafed,

E=p)

(A)

(B)

(&)

-(0) 0
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ROUGH WORK
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